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#include <stdio.h>

void print_weight_and_height(double data[]){
printf("Weight = %1f (kg)¥n", data[@]);
printf("Height = %1f (cm)¥n", data[1]);

int main(){
int i;
double WHdata[4][2]={
{69.0, 178.1},
{78.0, 182.5},
{45.6, 155.0},
{56.7, 168.0}};//AE-BE

for(i=0;i<4;i++){
print_weight_and_height( |[CZZELLAH );
}

return 0;
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Weight = 69.000000 (kg)
Height = 178.100000 (cm)
Weight = 78.000000 (kg)
Height = 182.500000 (cm)
Weight = 45.600000 (kg)
Height = 155.000000 (cm)
Weight = 56.700000 (kg)
Height = 168.000000 (cm)




